oS A8 WHESHE A g, b, ¢ ol HI5FA, a + b + ¢ = Dupelr)?
(3x> —ax—T7) - (x> +2x+b) = cx®> + 5x— 4

(FH) =3x2-ax-T-x>-2x-b
=2x2-(a+2)x—(7T+D)
=cx?> +5x-4

2=c,—(a+2)="5-(7+b) =4

La=-7,b=-3, c=2

w2t A, a+ b+ c = -8 ©|t},
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(v=3) (s+2) =@ vaxtp L A5 a b Gatp o
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B
21 21
=x’4+ax+b
4 _ 1 4
O] Al — — o]3l Adre _ — ojlug b+ (——)
x o A 21 ]J—, 3T D 21 | a—+ 21 I




® 4a-b

x=a+b, y=3a-2b
2x—y=2(a+b)— (3a—2b) = —a+4b

il



4. A (32 +x=-2) + (-5x* = Tx + 1) & Zhk5] 5pR?

@—2x2—6x—1 @ -2x2+6x+1 @ —2x2-5x-1

@ 8x2—-4x-1 ® 8x2+4x+1

(Bx2+x—2)+ (-5x? - Tx+ 1)
=32 +x-2-5x2-Tx+1
=-2x2-6x-1




B -

-

~———_q---

@ a® + 2ab + b? (@)aQ—Qab—i—b2 ® a®-b?

@ a?®+b? ® 2ab

Hol)= (a-b)? = a® - 2ab + b?




6.  (2x-3y+ 129 YA iy AE A, yo] A€ B 2t SHE
A - B9 gk Fstofzt

=
=i

>
|> HMekr g

oH .

~&B

2x — 3y = t 2t St

(2x-3y+1)2=(t+1)?

242419 r=2x-3yS U5t

(2x = 3y)2 +2(2x = 3y) + 1 = 4x% = 12xy + 9y® + 4x — 6y + 1
w2bA xy O] AlgE —12°0]1L y O] Alp= —6°|B&
A-B=-12-(-6) = —-6°]t}.

.




(8—1)(8+1)(82 4 1)(8* + 1) — 88
= (82 -1)(82+1)(8* +1) - 88
=B -1)(8* +1)-88

= (88-1)-88
=-1
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2x+y=3°|1 O p=3 Y
> CF
> ™Eeh 27

o, ab O] Fh

Fstolar,

ab= (3% ¥ =3%H =38 = 27




10.

x_|_y:3, xy:20é[q1,x4+y49’]%):%?

@ 15 @16 @7 @ 18

P =(x+y)?-2xy=32-2x2=5
Loyt = (P +)°)? - 2(w)? =25 - 2x4 =17




